DESKTOP TV MOUNT

ASSEMBLY INSTRUCTIONS




s
5 ) M6 éx4) M6x2D5 (x4)
= —
M6x30 (x4)
E F (x1) G (x1)

M4x14 (x4) M5x14 (x4) M6x14 (x4) M8x20 (x4)
M-A M-B M-C M-D
D5 (x4) D8 (x4)

M-E M-F M-G (x8)
Note: Before installation, please make "
sure the front side face toward the
viewing direction. Otherwise, you will = i = q
find the TV difficult to adjust. ! !

® ®

Backside

direction as shown.

The VESA plate should |
be installed in the right !




	页 1
	页 2

